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LfA: avg vs. d at each age group
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LfA: model est vs obsOv@Q50
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DeltaTypeAbbr=WeiAvgByD
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LfA: sfDem
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NdD: model est vs obsOv@Q50
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DeltaTypeAbbr=WeiAvgByD
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NdD: sfDem
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dStH: avg vs. d
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dStH: obsAvg vs obsOv@Q50
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FrV trend at each age
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FrV: model Est vs obsFrV at Q90
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FrV: obsFrV vs obsFrV@Q90
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G3-2 FrV: D_Q50 FrV

page 32
o e G — S — -~ S S S — S — S — -~ - S - — - S — -~ - S — - — - — - - — o~ - - - — - N—

-10 A

-20 A

-30 ~
—8— pcrDelta_avg
- pcrDeltaAdj av

404 p j_avg

30 31 32 33 34 35



page 33

0.0 A

-0.2 1

-0.4

-0.6 A

-0.8 1

—4— ddavg
—4— d4aavg

15 16 17 18 19 20

age



33 -

34 -

35 -

-20



page 35

15 -

16 -

17 -

18 -

19 -

20 -

21 -

22 -
23 -

24 -
© 25 -

26 -

27 -

28 -

29 -

30 -

31 -

32 -




